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Factor the expression. If the expression cannot be tactored, say so.

1. W 4 5x 2 2.
4. 2* - 3x -1 5.
7. % 4y —4 | 8.
i0. x4+ 2v —4 1.
13. 2%% — 10x + 12 14.
16. 837 — 20x ~ 12 17.
Solve i:hé esgua'kion; ._
i9. 25% - 31-'- L =40 20.
22, 32l —§xr—~3=0 23.
26, 24— Ty 20 26.

Find the zeros bf‘the-funcﬁ@iﬁ.b’gﬁ vewriting the function in intercept fo
= 5x + 10v — 40

162

28, y = ”r —- ()‘(’ e 4 ' 29.
B 31 y == 4 121 i- 9 32

2x% 4 3x + ]
dx? + 2% — 2

9y — 3x -6

. a2 4
ye=dxr 4t o= 9

glx) = 18x* ~2

b )
3. 3x-

6. 6y —7x

o, dy® + 3¢ + 3
12, 4% — 4
i5. 273" = 3

18, 30x°

24,

27.

30. flx)
33 Y=

21 6x2— Tx 42 =0

-+ 6dx + 60

'-Fmd “he vaiue o; ;(

34, Area of {he qqu'lre = Sl

35. Arca ol the rectangle

=16




s -6, factor ithe polynomial completely.

.2 ' I, 3 e 5 g
- 242k 5. 2w - 7w’ ~ 1547 6. 3¢° —174° ~ 28¢”

er_éises 14-16, factor the polynomial completely,
36/}!1 — 25 - PO 15. 0t = 110 + 28 ;. "];4 - 16
'x;e{giseé-‘2772(};.d;e‘tjegrming whether the binomial is a factor of f(x) .

;r f(x)“ 3% + 71:2 = 81 — 5 1 < 5 %

18- f{t) : 2)‘3..;.15"‘2 —HEBI iE ?6 x + 9 A‘

)

18, )= 6 —art 6~ 0

20 f(x) = 120 - 692 +39x +30; k-6

© 21. Fill in the blank of the divisor so that the remainder is 0. Justify your answer.




